1. Pemmre HepaBenctso | — x| = 5.

DXE[5;4+) 2x€(—o0; —5] 3HxE[-55] 4x€ (—o0; —5]U[5; +o0)

55x1=-5,x=>5
2. Peummre nepasenctso | — x| > 6.
) X € (—o0; —6]U[6; +0) 2)x1=—0, X =6 3)x€[6;+0) 4)x€ (—o0; —6]
5) x € [—6; 6]
3. Pemmrte HepaBenctBo | — x| = 3.
Dx€E[3;400) 2x€(—o0;=3] Hx€[-3;3] 4x€(—o0; =3]U[3; Fo0)
5) X1 :—3, X2:3

4. Pemmre Hepasenctso | —x| = 9.
DXE[94o0) 2x1=-9,x=9 3Hx€(—;-9 sHxe[-9;9]
5) x € (—o0; —9JU[9; +o0)

5. Pemmre HepaBencTso | — x| = 4.
DXE[4+oo) 2 x€ (o0 —4U[4;+e0) Hx;=-4xx=4 4 x€ (—oo; —4
5)x € [—4; 4]
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